

A quasilinear degenerate parabolic equation

Nanbu, Tokumori

Department of Mathematics, College of General Education, Kyushu University

<https://doi.org/10.15017/1449016>

出版情報：九州大学教養部数学雑誌. 12 (1), pp.23-28, 1979-12. 九州大学教養部数学教室
バージョン：
権利関係：



A quasilinear degenerate parabolic equation

Tokumori NANBU

(Received September 11, 1979)

Introduction

In this paper, we consider degenerate parabolic equations of the form:

$$Lu \equiv u_t - ((u_x)^{2m+1})_x + \mu u - \alpha u^{p+1} - \beta u^q (u_x)^n = 0 \quad (1)$$

in which subscripts denote partial differentiation, m, n, p, q are positive numbers and μ, α, β are constants.

Equation (1) is nonlinear and of degenerate second order parabolic type. At point where $u_x \neq 0$, (1) is parabolic, but at point where $u_x = 0$ it is not.

Our first aim here is to find a global classical solution of the Initial-Boundary Value Problem (I. B. V. P.) and the Initial Value Problem (I. V. P.) for (1). There are many papers which study weak solutions of degenerate parabolic equations ([2], [3], [9], [10], etc). We can show the global existence of classical solution by the methods which have been already applied in [4], [5].

It is well known that if u is a solution of the Cauchy problem:

$u_t = u_{xx} + \mu u$ in $S \equiv (-\infty, +\infty) \times (0, T)$, $u(x, 0) = u_0(x)$ ($-\infty < x < +\infty$) ($\mu \geq 0$), where $u_0(x)$ is a given bounded nonnegative continuous function on $(-\infty, +\infty)$, then $u(x, t) > 0$ in S , and in particular if $u_0(x)$ has compact support as a function of x , then $u(x, t)$ does not have this property for any $t > 0$. For (1), this situation is different. Our second aim is to study this one for (1). Let u be a bounded classical solution of (I. V. P.). We can conclude that if $u_0(x) \geq 0$ on $(-\infty, +\infty)$ and $u_0(x)$ has compact support as a function of x then $u(x, t)$ continues to have this property for any $t \in (0, T]$. There are many papers which study an interface for degenerate parabolic equations ([1], [6], [7], [8], [12, 13], etc.).

In §1, we give the existence theorems of the solution for the (I. B. V. P.) and (I. V. P.). In §2, we study the propagation of support of solution of (I. V. P.).

1. Existence theorems

In this section, we assume that m, n, p, q are positive integers with $n \geq m+1$ and μ is a positive constant.

We first assume that usual function spaces $C^k[a, b]$, $L^p(a, b)$, $\dot{H}^k(a, b)$, $H^k(a, b)$, $\mathcal{B}^k$, $H^k(-\infty, +\infty) = H^k$, $C^j(0, T; \dot{H}^k(a, b))$ are well known. We put $(u, v)_j = \int_a^b u^{(j)} v^{(j)} dx = \int_a^b D_x^j u D_x^j v dx$ and $((u, v))_j = (u, v)_0 + (u, v)_j$ ($j=0, 1, 2, \dots$). We call $(u, v)_j$ (j)-inner product and put $\|u\|_j^2 = ((u, u))_j$, $|u|_j^2 = (u, u)_j$.

Now let (a, b) be a finite interval.

We consider the problem:

$$(I) \quad \begin{cases} Lu=0 & x \in (a, b), \quad 0 < t < \infty, \\ u(x, 0) = u_0(x) & x \in (a, b), \\ u(a, t) = u(b, t) = 0 & 0 < t < \infty. \end{cases}$$

THEOREM 1. Suppose that $u(x, t)$ is a solution of the problem (I), belonging to $\bigcap_{j=0}^2 C^j(0, T; \dot{H}^{k+1-j}(a, b))$ where $0 < T < \infty$ and $k \geq 3$. Then there exist monotone increasing functions $\Phi(y), \psi(y)$ ($y \geq 0$) with $\Phi(0) = \psi(0) = 0$ such that

$$(i) \quad (\|u(t)\|_k^2)_t \leq 2\|u(t)\|_k^2 \{-\mu + \Phi(\|u(t)\|_k)\},$$

$$(ii) \quad (\|u_t(t)\|_{k-1}^2)_t \leq 2\|u_t(t)\|_{k-1}^2 \{-\mu + \psi(\|u(t)\|_k)\}.$$

PROOF. The details follow from the arguments in §2 of [5]. We shall sketch only its outline.

By taking (0)-inner product and (k)-inner product to both sides of (1) with $u(t)$, we have

$$\begin{aligned} \left(\frac{1}{2}|u(t)|_0^2\right)_t + \mu|u|_0^2 &\leq \alpha \int_a^b u^{p+2} dx + \beta \int_a^b ((u_x)^n) u^{q+1} dx, \\ \left(\frac{1}{2}|u(t)|_k^2\right)_t + \mu|u|_k^2 &+ \int_a^b D_x^{k-1}((2m+1)(u_x)^{2m} u_{xx}) D_x^{k+1} u dx \\ &= \beta((u_x)^n u^q, u)_k + \alpha(u^{p+1}, u)_k. \end{aligned}$$

Now, applying Sobolev's lemma, it follows that

$$\begin{aligned} (2m+1) \int_a^b D_x^{k-1}((u_x)^{2m} u_{xx}) D_x^{k+1} u dx &\geq \frac{1}{3} \int_a^b (D_x^{k+1} u)^2 (u_x)^{2m} dx - C\|u(t)\|_{\frac{2}{k}^{m+2}}^2, \\ \beta((u_x)^n u^q, u)_k &\leq \frac{1}{3} \int_a^b (u_x)^{2m} (D_x^{k+1} u)^2 dx + C\|u\|_{\frac{n+q+1}{k}}^{n+q+1} + C\|u(t)\|_{\frac{2}{k}^{n-m+q}}^2, \end{aligned}$$

and $\alpha(u^{p+1}, u)_k \leq C \|u(t)\|_k^{p+2}$,

where C are constants depending on Sobolev constant, k, n, m and q . Here we note that constants C, C_{ij} , appearing in the below, are similar ones. Consequently we obtain

$$\begin{aligned} & \frac{1}{2} (\|u(t)\|_k^2)_t + \mu \|u(t)\|_k^2 \\ & \leq C_{11} \|u(t)\|_k^{2m+2} + C_{12} \|u(t)\|_k^{2(n-m+q)} + C_{13} \|u(t)\|_k^{n+q+1} + C_{14} \|u(t)\|_k^{p+2}. \end{aligned}$$

Next by differentiating (1) with respect to t , we have

$$\begin{aligned} u_{tt} = & ((2m+1)(u_x)^{2m} u_{xt})_x - \mu u_t + \alpha(p+1) u^p u_t \\ & + \beta(n(u_x)^{n-1} u_{xt} u^q + q u^{q-1} (u_x)^n u_t). \end{aligned} \quad (2)$$

By taking (0)-inner product and $(k-1)$ -inner product to both side of (2) with $u_t(x, t)$, we get

$$\begin{aligned} & \frac{1}{2} (\|u_t(t)\|_0^2)_t + \mu \|u_t(t)\|_0^2 \leq C \|u(t)\|_k^p \|u_t(t)\|_0^2 \\ & + C \|u(t)\|_k^{n+q-1} \|u_t(t)\|_0^2 + C \|u(t)\|_k^{n+q-1} \|u_t(t)\|_0 \|u_t(t)\|_1 \end{aligned}$$

and $\frac{1}{2} (\|u_t(t)\|_{k-1}^2)_t + \mu \|u_t(t)\|_{k-1}^2 + (2m+1) ((u_x)^{2m} u_{xt}, u_{xt})_{k-1}$

$$= \alpha(p+1) (u^p u_t, u_t)_{k-1} + \beta \{n(u^q (u_x)^{n-1} u_{xt}, u_t)_{k-1} + q(u^{q-1} (u_x)^n u_t, u_t)_{k-1}\}.$$

Here we know that

$$\begin{aligned} & (2m+1) ((u_x)^{2m} u_{xt}, u_{xt})_{k-1} \geq \int_a^b (u_x)^{2m} (D_x^k u_t)^2 dx - C \|u(t)\|_k^{2m} \|u_t(t)\|_{k-1}^2, \\ & \beta n(u^q (u_x)^{n-1} u_{xt}, u_t)_{k-1} \leq \int_a^b (u_x)^{2m} (D_x^k u_t)^2 dx + \\ & + C \|u(t)\|_k^{2(n+q-m-1)} \|u_t(t)\|_{k-1}^2 + C \|u(t)\|_k^{n-1+q} \|u_t(t)\|_{k-1}^2 \end{aligned}$$

and $\beta q(u^{q-1} (u_x)^n u_t, u_t)_{k-1} \leq C \|u(t)\|_k^{n+q-1} \|u_t(t)\|_{k-1}^2$.

Therefore we obtain

$$\begin{aligned} & \frac{1}{2} (\|u_t(t)\|_{k-1}^2)_t + \mu \|u_t(t)\|_{k-1}^2 \\ & \leq C_{21} \|u(t)\|_k^{2m} \|u_t(t)\|_{k-1}^2 + C_{22} \|u(t)\|_k^{n-1+q} \|u_t(t)\|_{k-1}^2 \\ & + C_{23} \|u(t)\|_k^{2(n-m+q-1)} \|u_t(t)\|_{k-1}^2 + C_{24} \|u(t)\|_k^p \|u_t(t)\|_{k-1}^2. \end{aligned}$$

Thus, setting $\phi(y) = C_{11} y^{2m} + C_{12} y^{2(n-m+q-1)} + C_{13} y^{n+q-1} + C_{14} y^p$

and $\psi(y) = C_{21} y^{2m} + C_{22} y^{2(n-m+q-1)} + C_{23} y^{n+q-1} + C_{24} y^p$, we have (i) and (ii).

Let us set R_k^1, R_k^2 as unique positive root of the equations $\phi(y) = \mu$ and $\psi(y) = \mu$ respectively. And we put $R_k = \min(R_k^1, R_k^2)$.

THEOREM 2. Suppose that u_0 satisfies $u_0 \in \dot{H}^{k+1}(a, b)$ ($k \geq 4$), $\|u_0\|_k < R_k$.

Then the problem (I) admits a unique solution $u(x, t)$ belonging to $\bigcap_{j=0}^2 C^j(0, \infty; H^{k-1-j}(a, b))$. Moreover $u(x, t)$ satisfies $\|u(t)\|_{k-1} < R_k$ for $t \in (0, \infty)$.

Secondly we shall consider the problem:

$$(II) \quad \begin{cases} Lu = 0 & ((x, t) \in (-\infty, +\infty) \times (0, +\infty)), \\ u(x, 0) = u_0(x) & (x \in (-\infty, +\infty)). \end{cases}$$

THEOREM 3. Suppose that u_0 satisfies $u_0 \in H^{k+1}$, $\|u_0\|_k < R_k (k \geq 5)$. Then the problem (II) has a unique solution $u(x, t) \in C^0(0, \infty; H^{k-2}) \cap C^1(0, \infty; H^{k-3})$.

The proof of Theorems 2 and 3 can be carried out in a similar manner to that used for the analogous assertions in [5].

2. Propagation of support

In this section we assume the existence of a global classical solution of (I. V. P.):

$$(III) \quad \begin{cases} Lu \equiv u_t - ((u_x)^{2m+1})_x + \mu u - \alpha u^{p+1} - \beta u^{q+1} (u_x)^n = 0 \\ \quad \text{in } S \equiv (-\infty < x < +\infty, 0 < t < \infty), \\ u(x, 0) = u_0(x) \quad (-\infty < x < \infty), \end{cases}$$

where m, p, q are positive numbers and μ is a nonnegative constant.

We note that in §1 we have proved the global existence of a classical solution of the problem (III) for the case of m, p, q being positive integers with $n \geq m+1$ and μ a positive constant.

Now, by the standard maximum principle, we can easily verify that if $u(x, t)$ is a bounded classical solution of (III), $|u| + |u_x| \leq M_0$ in $\bar{S}$ and $0 \leq u_0(x) \leq M_0 (x \in (-\infty, \infty))$, then $M_0 \geq u(x, t) \geq 0$ in $\bar{S}$.

Here we study some properties of the bounded solution of the problem (III). In the below, we shall use the auxiliary functions $z(t, x)$ which have been employed in ([6], [7], [8], [12]).

THEOREM 4. Let $u(x, t)$ be a global classical bounded solution of the problem (III). Suppose that $|u| + |u_x| \leq M_0$ in S and there exist constant a_1, b_1 such that $u_0(x) = 0 (x \notin (a_1, b_1))$ and $0 < u_0(x) \leq M_0 (x \in (a_1, b_1))$. Then there exist constants A_1, B_1 such that $u(x, t) \equiv 0 (x \notin (A_1, B_1), t \geq 0)$ in the following cases:

- i) $\mu > 0, \alpha \leq 0$; ii) $\mu > 0, \alpha M_0^{p-1} - \mu < 0, \alpha > 0$; iii) $\mu = 0, \alpha < 0, m > (p/2)$.

PROOF. It is sufficient to verify that there exists a constant $B_1(>b_1)$ such that $u(x, t) = 0$ ($B_1 \leq x < \infty, 0 \leq t < \infty$).

We put

$$z(x, t) = \begin{cases} M_0 \left(\frac{B-x}{B-b_1} \right)^\omega & b_1 \leq x \leq B \\ 0 & B \leq x \end{cases}$$

where $\omega(>2)$ is suitable constant.

Since z satisfies the relation $Lz > 0$ in $(b_1, B_1) \times (0, \infty)$ for sufficiently large number $B_1(>b_1)$ and $z(x, 0) \geq 0 = u(x, 0)$ ($x \geq b_1$), $z(b_1, t) = M_0 \geq u(b_1, t)$ ($0 \leq t < \infty$), applying maximum principle, we have $z(x, t) \geq u(x, t)$ in $(b_1 \leq x < \infty, 0 < t < \infty)$.

Hence $u(x, t) \equiv 0$ in $(B_1 \leq x < \infty, 0 \leq t < \infty)$.

Simiraly we can verify that there exists a number $A_1(<a_1)$ such that $u(x, t) = 0$ in $(-\infty < x \leq A_1, 0 \leq t < \infty)$.

THEOREM 5. Suppose that $u(x, t)$ is a global classical solution of the problem (III) and there exists a point $(x_0, t_0) \in S$ such that $u(x_0, t_0) > 0$. Then $u(x_0, t) > 0$ for all $t(\geq t_0)$.

PROOF. Without loss of generality, we may take $(x_0, t_0) = (0, 0)$.

Now we put

$$z(x, t) = \begin{cases} (\rho^2 - x^2)^\sigma e^{-\sigma t} & |x| \leq \rho, 0 < t < \infty, \\ 0 & |x| \geq \rho, 0 < t < \infty \end{cases}$$

in which $\omega(>2)$ and the constants $\sigma > 0$, $\rho > 0$ are chosen suitably.

We can easily verify that for sufficiently large $\sigma > 0$ $Lz < 0$ in $\{|x| < \rho, 0 < t < \infty\}$.

Now, since $u(0, 0) > 0$, we can select sufficiently small $\rho > 0$ such that $z(x, 0) = (\rho^2 - x^2)^\sigma \leq u(x, 0)$ in $|x| < \rho$. By $u(\pm \rho, t) \geq 0 = z(\pm \rho, t)$ for $t \geq 0$, using maximum principle, we get $z(x, t) \leq u(x, t)$ in $\{|x| < \rho, 0 \leq t < \infty\}$. Hence $0 < u(0, t)$ for any $t(\geq 0)$.

Here we set $\lambda_1(t) = \inf\{x \in (-\infty, \infty); u(x, t) > 0\}$ and $\lambda_2(t) = \sup\{x \in (-\infty, \infty); u(x, t) > 0\}$.

THEOREM 6. Under the assumptions of Theorem 4, there exist a function $\lambda_1(t)$ which is monotonically decreasing and a function $\lambda_2(t)$ which is monotonically increasing such that for $t \in [0, \infty)$ $u(x, t) > 0$ if and only if $x \in (\lambda_1(t), \lambda_2(t))$ and $A_1 \leq \lambda_1(t)$, $\lambda_2(t) \leq B_1$ ($t \in [0, \infty)$).

PROOF. At first, from Theorem 4, we may easily assert that the above functions $\lambda_1(t)$, $\lambda_2(t)$ are well defined on $[0, \infty)$ and satisfy $A_1 \leq \lambda_1(t)$, $\lambda_2(t) \leq B_1$ on $[0, \infty)$.

Here, we may assume that $u(x_0, t_0) = 0$ at $(x_0, t_0) \in S$ where $A_1 \leq x_0 \leq B_1$.

It is sufficient to verify that if $A_1 < x_0 \leq a_1$, then $x_0 \leq \lambda_1(t_0)$. For sufficiently small $\delta > 0$, we have that $L\delta > 0$ in $(A_1, x_0) \times (0, t_0)$ and $0 = u(x_0, t) = u(A_1, t) < \delta$ ($t \in [0, t_0)$). Hence we have $\delta \geq u(x, t)$ in $[A_1, x_0] \times [0, t_0]$. By the arbitrariness of δ , we obtain $u(x, t_0) = 0$ ($A_1 \leq x \leq x_0$). Therefore $A_1 < x_0 \leq \lambda_1(t_0)$.

References

- [1] D.G. ARONSON: *Regularity properties of flows through porous media; the interface*, Arch. Rat. Mech. Anal. **37**, 1-10(1970).
- [2] J.A. DUBINSKI: *Weak convergence in nonlinear elliptic and parabolic equations*, Mat. Sb., **67**, 609-642(1965).
- [3] J.A. DUBINSKI: *Quasilinear elliptic and parabolic equations of arbitrary order*, Russian Math. Surveys, **23**-1, 43-91(1968).
- [4] Y. EBIHARA, T. NANBU: *On the global solution of some nonlinear parabolic equation I, II*, Funk. Ekvac. **20**, 23-38, 273-286(1977).
- [5] Y. EBIHARA, T. NANBU: *Global classical solutions to some nonlinear degenerate parabolic equations*, Fukuoka Univ. Sci. Rep. **8**, 65-76(1978).
- [6] B.H. GILDING: *Properties of solutions of an equation in theory of infiltration*, Arch. Rat. Mech. Anal. **65**, 203-225(1977).
- [7] A.S. KALASHNIKOV: *The propagation of disturbances in problems of non-linear heat conduction with absorption*, Zh. vychisl. Mat. mat. Fiz. **14**-4, 891-905(1974).
- [8] A.S. KALASHNIKOV: *On the character of the propagation of perturbations in processes described by quasilinear degenerate parabolic equations*, Proc. Semi. dedicated to I.G. Petrovskogo, Otdel'nyi, Moscow, 135-144(1975).
- [9] A.S. KALASHNIKOV: *Cauchy's problem in classes of increasing functions for certain quasilinear degenerate parabolic equations of the second order*, Diff. Uravneniya **9**-4, 682-691(1973).
- [10] J.L. LIONS: *Quelques methodes de resolution de problemes aux limites non lineaires*, Dunod, Paris, (1969).
- [11] T. NANBU: *The Cauchy problem for quasilinear degenerate parabolic equations*, Mat. Rep. Coll. Gen. Ed. Kyushu Univ. **11**, 83-96(1977).
- [12] O.A. OLEINIK, A.S. KALASHNIKOV, CHZHOU YUI-LIN: *The Cauchy Problem and boundary problems for equations of the type of unsteady filtration*, Izv. Akad. Nau-SSSR Ser. Mat., **22**, 667-704(1958).
- [13] L.A. PELETIER: *A necessary and sufficient condition for the existence of an interface in flows through porous media*, Arch. Rat. Mech. Anal. **56**, 183-190(1974).